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SECTION - A
T ot
>-faets!

For each question given below four answers are given. Out of four only one
answer is correcl. Select the correcl answer. Ix10=10

et 2fo(BY 2l BB Gad it ey | b1/4brs [6E4S W& Gbicz Bad ©% ) &% Bead) 9z
Eleradr |

s sfolo raa s14fo 86 (FGT Slics | BTl ety @lo By o% | % Cadfe (vd ¢cdt!
1. F-eZO:, +2Al — Al,O5 +2Fe
The above rcaclion is an cxgmplc of —
@243 RAfFN 4 -
@7l [l zeet —
(a) a combination rcaction
9B e R Swrgae

3o Feus Rfera vz
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(b) a decomposilion rcaclion
a6l fanse e Sqizad

g Fraie [igwua Swizad

(c) a displacemcent rcaction
€61 oAt el Twizad

o W fafam Swizad

() a double displacement reaction
<ol faviopitad fdiesgr Curzad

&l fasiawrae ey Suizad

2. A solution tums red litmus blue.
The pll of the solution is —
951 44Z 48l BAIg Al I |
=fb 7a = FoaE | F@ |
Y5l pll &6 —
wafod pIl ETE —
(@ 1
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) 4

(c) 5

(d 10

3. Which of the flollowing mclals rcacts violently with cold water ?

©q (RS AP A6l AITR Fore ove @eet [RiFa e

fitsd com 4rolb Mea we 7 o3d Qs [{feFw F@e?

(@ Al

(b) Fe

(c) Na

(d Ca

1316-GS (EN/AS/BN) | [4]
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radius gradually

_ 4. In the periodic table of the elements, in a period from left to right atomic

(=2 21 SifeR [N Gore ASTER 2/ GirEla Areneds aPnd

CTerr srfige oiffrm offita diffe (vt SRt «ndfis e asmEo

(a) incrcascs
9

qIcs

(b) dccrcases

W

e -
(¢ rcmains samec

IR AT

a3z AdH
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{d) nonc of the above

€O GOIG 153 |

e |dd a3fve |

5. “Two wircs have lengths, resistances, resistivitics —cach in the ratio

1 : 2. Whal is the ratio of their diameters ?

i S tryf, (14, (1 — effSTB CFAS SEAISA A 1 : 2. SR O YRR

SOl ICRER ST

wfo Si@a e, (@14, SAMIeR @i — Afefby (wea sEAce WM 1: 2.

Sl IR S BT FE?

fa) 1:2

by 1:4

) 4:1

(d 1:J2
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Which of the [ollowing is notl a conventional source of cnergy ?

&5 (IR0 A *ffq Teof 72h?
fiba als epfers «Ifeeq Ber 2
(@) Tossil fucls

Glar g

TR G

(b} DBio-Mass
Giaed

Ed <4

() Nuclcar cnergy
fEsh «fe
feFt =fe

B16-GS (EN/AS/BN) - 7]
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(d) Wind energy
R ifes

4y x[{¢a .

7. The part of Lthe brain which s responsible for maiﬁtaining cquilibrium
and posturc of the body is

s fl Gedd ome el wrs i Frrew e W, GIR et s —
Al c1wen ot el @k P Fgem e ), ol e e —
(a) Cercbellum

Cblaceam

(HALA=

(b) Mecdulla
gl
GIEEl

316-GS (EN/AS/DBN) 18]

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

- {c) Pons

26

b

AT

(d}] Ccrcbrum
cblRdrs

CH @l

8. Which onc of the following is a biodegradablc waste ?

wete Bl (GBI Gl FifiaRe (o wy 2
fAxfeie et o Rgsaq 36 omide
(a) Polythcne bag

AR G

AfIER st

(b) Tccled skin of mango

TR AR

HICE Al

1316-GS (EN/AS/DBN) [9]
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(c) Tom leather bag
¥ Uil b G

(ST SRR sl

({d) Plastlic botlc
2R 40

A48 @rea

9. Anacrobic fcspiraﬁon occurs in —
"SRl PR A T —
IS AT AAT T —
(@) Mitochondria
Im‘fb‘ﬁ@mf@

TReICIfGaIre

BieuEs (EN/AS/BN) [10]
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(b} Chloroplast
'

IR

(¢ Nuclcus
(FHsMe
(A0 B T T
(d) Cyloplasm
BIR0 2T
HIRBIE
10. The organs having dillcrent origin, similar appearance and similar lunction
arc '
e sis17 Cedfe @@ fog (e @ WF 9@ IR 7208 I, CIRER ¥'d —

A4 RCH CeolfE T, rg e O G33 G388 O IR RIS, CletEl
el —

(a) 1lomologous .
TPZ

HIAE

1316-GS (EN/AS/BN) [11] . Contdl.
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(h) analogous
gl

Aayfe

(c) adjacent
Fabag|

b el

(d) vestigeal
SRR

I

SECTION -B
¥ et
et

11. Draw Lhec clectron dot struclurc of cthane.
L
B SCEE Y 1oA At |

UAGR ERFA T S S |

1316-GS (EN/AS/IBN) [12]
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I2. Namc the Sodium compound which is used for soflening hard watcr.

1

139 AN 1A () AFTieeT ot e TR Rfeuram csrra ant &)

W EE Y G S F0e IS GAeE anoia W |

13. Why in nature do we find more

1

m@&wmmmﬁwﬂwhwmw@mmm@

¢fers umw @ ab Wash s (o) T Tf LTI Mg (s791) &R (vacs
AZ ?

14. How the amount and time ol sccretion of hormones arc controlled ?

AT AR o Refs @R o QMR Fafde zme

QO =R R Reofe 26qR 51wy (@7 2o ) T Frafgs 22

B16-GS (EN/AS/BN) [13]
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15. If three resistances connected in paralle]l arc in rclation R, > R, > R4,
then what is the relation between the currents through them ? 1

HARAR Aeats Yot {81 i s af R, > R, > Ry W, (wta Hder wical
Qi IS 2iqrm srond e

Ml TR Y& [l G simorE A R, > R, > R, 2, Wiz(5 «irid Fowa
el Ry ekza ST f e

16. Takc 1g copper powder in a china dish and heat., then-—— 1x2=2
BT B TEd 9 UTS 1g TAE AISHE TS SIS 4 {0 —
B wfba 0o 9ol Aem 1g FAie «fSer e s s —
(@) What will bc the colour of the copper powder ?
Fofld 2neviridFa 91 (e ¥

Qg 2iiSuana 98 I I

(b) Writc the balanced chemical recaction for the above obscrvation.

@oqd ALEFIOR OBl TS TR A
. gold R ae e FeRd Gl

1316-GS (EN/AS/BN) [14]

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

Or / 733 / ¥

Translatc the following statcments into chcemical cquations and

balance them. 1x2=2

o ST IPTSG AR FAS ol o gem o

oy Sfearar avmfe AR Hicol @A G2 TEW I |

(a) llydrogen gas combines with nitrogen to formn ammonia.
FRYCIR (MR ARGeeA (TR wiore RJfFa 3R anfin gwe s

QROQEA ST AIRCGIEA MR 5w Wiy soienfRa eRre o1 790

(b) Zinc carbonalc is heated strongly to give Zinc oxide and Carbon
dioxidc.

%rﬁwémm@aﬁﬁﬁﬁ%@wﬁwwaﬁwﬁwﬁ@m
|

féite S AT N A RS SHET G2 TR TR THRG AW
el '

B16-GS [EN/AS/BN] [15] S iedritdd)
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17. Deline exothermic and endothermic reaction. Give one example of cach

with chemical cquation. 1+1=2

wafer s wirian®) [femna et B apmFe Ao 77 aesied GBite Svizd
e .

wiraltie wag oy Rifemm wAzen Al aemfe Ao 77 dflbe 9ol ac
TVl el I |

18. What will happen if a solution of sodium hydrocarbonate is heated ?

Give the cquation of the reaction involved. 1+1=2
W RGN v bt Bue Rre [ 97 RRFadR ammie e fa
cife R @B o w1 s 3 9 e Rt IR AT IR (el

Or / 7331 ] |t

paration of bleaching

Write the balanced chemical cqualion for thc prc
1+1=2

powder. Mention fwo uscs ol bleaching powder.

Giise oW oo o1 Ritrar swefee aFmfe At B | iR ATSHIE 4Pr4aLa

)

e ~Suw Aefecs ARafbe o wufre ammafe TR @ BAfee ABed
W 0 arala G

316-GS (EN/AS/BN) [16]
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-+ 19. Deseribe the process of budding in hydra. 2
QRUM REHSN GRS AT 30|

QARG PPt o 4o/ wear)

20. (@) What do you mcan by accommodation of cye lens ? 1
54 PR Eolyrem ol I 0 R 3

(IR (T SIS TSl IS D) @R 2

(b) Draw a diagram 1o show that a bcam of white light can pass

without dispersion through two prisms. 1

g s 3R oeat @ 29 (o new RegRs GicgRits 1o fremm e
A4 (2 94 NI | http://www.assamboard.com

e s @ e mwaﬁquﬁf&ﬁmﬁwmﬁqﬁ@mm@
o IS M |

21. State the two laws of refraction of light.

1+1=2
AT 5@ g5
aif%.via‘cﬁ @ T
- B16-GS (EN/AS/BN) [17] Contd.
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22. Explz;in the undcrlying principle of an clectric gcncrat(;r by drawing a
labelled diagram. 2

ao1 fbfze oo smwe e Rt A =y 11|
qaft Bize ram srawy Ryfes @mEEbEe A% T a@)

23. (a) Stale the rule which is used to know the direction of induced

currcnt in a coil. 1

IeE QOIS WIte e ke -sifaets aome Aacst S |

Gf6 FEICS (FEANCS) AB [P R e Ties ez Faal Sa aa

(b) Draw the magnetic ficld lines when current passes through a circular

coil. ) 1
eI POAN S 2@ATZ BIFTS T FfR QR IR IR ST 954 |

Gl gerem ST e Mo 2Rz vifFS 2 R padh Teaiefd o e |

24. (a) An alom has clectronic configuration 2.8.1
A1 G #RAIR EEEAR Rt 24 2.8.1
GG GIFE ~[IWI9R 2Eg e (A 2@ 2.8.1
() What is the atomic ‘numbcr of ﬂllc clement ? 1
GO oA e R 2

GG ATNIR—T A F92

B16-GS (EN/AS/BN) [18]
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(i) To which of the following clements would it be chemically

similar ?

(alomic numbers arc given in the parenthesis)
K(19).Cl(17), Mg(12), Ar(18) 1
O (TR (PR G106 3R IS ey Sz ?

(TR foote RMIRE ARE il i)

K(19), Cl(17). Mg(12). Ar(18)

(IFR (TOW RANIRE TRAGE e E)

K(19).Cl(17), Mg(12), Ar(18)

(b} Write the name of the metals of the second period of the periodic

table,
able 1

iR e RS sfaffrs @1 41g smea A B

azmmﬁmﬁﬁammmmms

B16-GS (EN/AS/BN) [19]
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Or / 331 | |2t

The position of the clements A, B and C in the periodic table arc

shown bclow
“fige CifeTars 4a1 (NF A, B 9% C3 2W A4g oo (Yedl 12|

Rfigs wiffem wafge @ A, B 93 C-2 ZMeE it ol 2|

Group 16 Group 17
S 3ot vq 35
—_ A
B C
{a) Stalc whether A is a metal or non metal ? 1

Tl A g (13 http://www.assamboard.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
Gl A 4Ig [ w4y ? WY A ad $iey 3t 10 s ard,
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